
CHAPTER 31
Short-term Financial Planning

Answers to Practice Questions

1. Unless otherwise stated in the problem, assume all expenses are for cash.

	
	February
	March
	April

	Sources of cash
	
	
	

	
Collections on cash sales
	$100
	$110
	$90

	
Collections on accounts receivable
	90
	100
	110

	
Total sources of cash
	190
	210
	200

	
	
	
	

	Uses of cash
	
	
	

	
Payments of accounts payable
	30
	40
	30

	
Cash purchases of materials
	70
	80
	60

	
Other expenses
	30
	30
	30

	
Capital expenditures
	100
	0
	0

	
Taxes, interest, and dividends
	10
	10
	10

	
Total uses of cash
	240
	160
	130

	
	
	
	

	Net cash inflow
	-50
	50
	70

	
	
	
	

	Cash at start of period
	100
	50
	100

	
+ Net cash inflow
	-50
	50
	70

	
= Cash at end of period
	50
	100
	170

	
	
	
	

	+ Minimum operating cash balance
	100
	100
	100

	
	
	
	

	= Cumulative short-term financing required
	$50
	$0
	$0


2. a.
Rise in interest rates:  Interest payments on bank loan and interest on marketable securities.

b. Interest for late payments: Stretching payables; net new borrowing.

c. Underpayment of taxes: Cash required for operations.


(Bear in mind, however, that if any of these events were unforeseen, they would not appear in the financial plan, which is constructed well in advance of the beginning of the first quarter.)

3. 30-Day Delay: This quarter it will pay 1/3 of last quarter’s purchases and 2/3 of this quarter’s.

60-Day Delay: This quarter it will pay 2/3 of last quarter’s purchases and 1/3 of this quarter’s.

4.
Sources and Uses of Cash:


Sources


Sold marketable securities
2



Increased bank loans
1



Increased accounts payable
5



Cash from operations:




Net income
6




Depreciation
 2

Total sources
16

Uses



Increased inventories
6



Increased accounts receivable
3



Invested in fixed assets
6



Dividend
 1

Total uses

16



Increase in cash balance
 0

Sources and Uses of Funds:


Sources


Cash from operations




Net income
6




Depreciation
 2

Total sources
 8


Uses


Invested in fixed assets
6



Dividend
 1

Total uses

 7


Increase in net working capital
 1

5. The new plan is shown below:

	
	First Quarter
	
	Second Quarter
	
	Third Quarter
	
	Fourth Quarter

	New borrowing:
	
	
	
	
	
	
	

	1.
Bank loan
	41.50
	
	8.50
	
	0.00
	
	0.00

	2.
Stretching payables
	0.00
	
	7.64
	
	0.00
	
	0.00

	3.
Total
	41.50
	
	16.14
	
	0.00
	
	0.00

	
	
	
	
	
	
	
	

	Repayments:
	
	
	
	
	
	
	

	4.
Bank loan
	0.00
	
	0.00
	
	16.63
	
	33.37

	5.
Stretching payables
	0.00
	
	0.00
	
	7.64
	
	0.00

	6.
Total
	0.00
	
	0.00
	
	24.27
	
	33.37

	
	
	
	
	
	
	
	

	7.
Net new borrowing
	41.50
	
	16.14
	
	-24.27
	
	-33.37

	
	
	
	
	
	
	
	

	8.
Plus securities sold
	5.00
	
	0.00
	
	0.00
	
	0.00

	9.
Less securities bought
	0.00
	
	0.00
	
	0.00
	
	0.70

	10.
Total cash raised
	46.50
	
	16.14
	
	-24.27
	
	-34.07

	
	
	
	
	
	
	
	

	Interest payments:
	
	
	
	
	
	
	

	11.
Bank loan
	0.00
	
	1.04
	
	1.25
	
	0.83

	12.
Stretching payables
	0.00
	
	0.00
	
	0.38
	
	0.00

	13.
Interest on securities sold
	0.00
	
	0.10
	
	0.10
	
	0.10

	14.
Net interest paid
	0.00
	
	1.14
	
	1.73
	
	0.93

	15.
Cash required for operations
	46.50
	
	15.00
	
	-26.00
	
	-35.00

	16.
Total cash required
	46.50
	
	16.14
	
	-24.27
	
	-34.07


6.
a.
	
	First Quarter
	
	Second Quarter
	
	Third Quarter
	
	Fourth Quarter

	Sources of cash:
	
	
	
	
	
	
	

	
Collections on accounts receivable
	85.0
	
	80.3
	
	108.5
	
	128.0

	
Other
	0.0
	
	0.0
	
	12.5
	
	0.0

	
Total sources
	85.0
	
	80.3
	
	121.0
	
	128.0

	
	
	
	
	
	
	
	

	Uses of cash:
	
	
	
	
	
	
	

	
Payments on accounts payable
	65.0
	
	60.0
	
	55.0
	
	50.0

	
Labor, administrative, other
	30.0
	
	30.0
	
	30.0
	
	30.0

	
Capital expenditures
	2.5
	
	1.3
	
	5.5
	
	8.0

	
Lease
	1.5
	
	1.5
	
	1.5
	
	1.5

	
Taxes, interest, and dividends
	4.0
	
	4.0
	
	4.5
	
	5.0

	
Total uses
	103.0
	
	96.8
	
	96.5
	
	94.5

	
Sources - uses
	-18.0
	
	-16.5
	
	24.5
	
	33.5

	
	
	
	
	
	
	
	

	Calculation of short-term financing requirement
	
	
	
	

	1.
Cash at start of period
	5.0
	
	-13.0
	
	-29.5
	
	-5.0

	2.
Change in cash balance
	-18.0
	
	-16.5
	
	24.5
	
	33.5

	3.
Cash at end of period
	-13.0
	
	-29.5
	
	-5.0
	
	28.5

	4.
Minimum operating cash balance
	5.0
	
	5.0
	
	5.0
	
	5.0

	Cumulative short-term financing

 required.
	18.0
	
	34.5
	
	10.0
	
	-23.5


6. b.
	
	First Quarter
	
	Second Quarter
	
	Third Quarter
	
	Fourth Quarter

	New borrowing:
	
	
	
	
	
	
	

	1.
Bank loan
	13.00
	
	16.93
	
	0.00
	
	0.00

	2.
Stretching payables
	0.00
	
	0.00
	
	0.00
	
	0.00

	3.
Total
	13.00
	
	16.93
	
	0.00
	
	0.00

	
	
	
	
	
	
	
	

	Repayments:
	
	
	
	
	
	
	

	4.
Bank loan
	0.00
	
	0.00
	
	23.65
	
	6.28

	5.
Stretching payables
	0.00
	
	0.00
	
	0.00
	
	0.00

	6.
Total
	0.00
	
	0.00
	
	23.65
	
	6.28

	
	
	
	
	
	
	
	

	7.
Net new borrowing
	13.00
	
	16.93
	
	-23.65
	
	-6.28

	
	
	
	
	
	
	
	

	8.
Plus securities sold
	5.00
	
	0.00
	
	0.00
	
	0.00

	9.
Less securities bought
	0.00
	
	0.00
	
	0.00
	
	26.96

	10.
Total cash raised
	18.00
	
	16.93
	
	-23.65
	
	-33.24

	
	
	
	
	
	
	
	

	Interest payments:
	
	
	
	
	
	
	

	11.
Bank loan
	0.00
	
	0.33
	
	0.75
	
	0.16

	12.
Stretching payables
	0.00
	
	0.00
	
	0.00
	
	0.00

	13.
Interest on securities sold
	0.00
	
	0.10
	
	0.10
	
	0.10

	14.
Net interest paid
	0.00
	
	0.43
	
	0.85
	
	0.26

	15.
Cash required for operations
	18.00
	
	16.50
	
	-24.50
	
	-33.50

	16.
Total cash required
	18.00
	
	16.93
	
	-23.65
	
	-33.24


7. Newspaper exercise; answers will vary depending on time period.

8. The following assets are most likely to be good collateral:

 a (
a storage tank full of jet fuel
 c (
an account receivable for office supplies sold to the City of Bordeaux
 f  (
an inventory of television sets

 g (
100 ounces of gold

 h (
a portfolio of French government bonds
The following assets are likely to be bad collateral:

 b (
1,000 cases of Beaujolais Nouveau, because it might depreciate quickly and be difficult to value.

 d (
an inventory of 15,000 used books, because these are difficult to value.

 e (
20,000 kilos of bananas, because they will depreciate quickly.

  i (
a half-completed luxury yacht, because it has little value unless completed.

9. Internet exercise; answers will vary.

10. Internet exercise; answers will vary.

Challenge Questions
1. Axle Chemical’s expected requirement for short-term financing is:

(0.5 ( $1,000,000) + (0.2 ( $0) + (0.3 ( $2,000,000) = $1,100,000

If Axle Chemical takes out a 90-day unsecured loan for $2 million, then the interest paid at the end of the 90 days is:



$2,000,000 ( [(1.013) – 1] = $60,602


Under this arrangement, the expected cash surplus is:



$2,000,000 - $1,100,000 = $900,000

This surplus will earn interest for an average period of 1.5 months at a 9% annual rate, for total interest of:



$900,000 ( [(1.00751.5) – 1] = $10,144


Therefore, the expected net cost of borrowing is:



$60,602 - $10,144 = $50,458

If Axle Chemical uses the credit line, then the future value of the $20,000 commitment fee is:



$20,000 ( 1.013 = $20,606

Assuming that the cash requirement accumulates steadily during the quarter, the average maturity of the loan is 1.5 months and the expected interest cost is:



$1,100,000 ( [(1.011.5) – 1] = $16,541

The total cost of the credit line is therefore: $20,606 + $16,541 = $37,147.  The credit line has the lower expected cost.

2. The main points to be considered are:

· The commercial paper is cheaper than the bank loan (9% compared to 10%).  Large firms with good credit ratings can usually reduce the cost of credit by not borrowing from a bank.

· On the other hand, the firm will need to roll over the commercial paper ten times.  That is acceptable as long as the firm’s credit rating remains good, but commercial paper can be very expensive for companies with poor credit ratings, and may even dry up entirely.  Also, liquidity in the commercial paper market varies over time.  For example, during the Russian crisis in 1998, commercial paper became very expensive.  The advantage of the bank loan is that the company is sure of the availability of the money for five years and is also certain regarding the margin above the prime rate.  It is also important to note that the commercial paper will need to be backed by a line of credit, which will increase its cost.

· The floating rate loan from the bank appears to be cheaper than the 11% fixed rate loan from the insurance company, but it is important to remember that the difference between fixed and floating rates may indicate an expectation of a rate rise.

· The choice between the fixed-rate and the floating-rate loans may also depend on whether one or the other better hedges the firm’s exposure to interest rates.  For example, if the firm’s income is positively related to interest rate levels, it might make sense to borrow at a floating rate; that is, when the firm’s income is low, its cost of debt service is also low.
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